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In Thorndike's 'CAVD' Intelligence test the letter 'C' refers this
ability.

1. Sentence completion
2 Comprehension

3. Vocabulary

4 Word fluency

TQEE By, 'CAVD' (Pag, 98585° 'C' &S @50 10 F0gio
1. J°§§ FON{e]cle)

2. eSS

3. D20

4. D TOFS

The method through which a person reports his experiences, internal
feelings and thoughts after analysis is

1. Observation method

2 Case study method

3. Experimental method
4

Introspection method
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A 9 years old boy only able to complete the aspects specified to 8
years old boy — This boy's Intelligence Quotient is

&5 9 DOSBorw @ermyon 8 HoIS\oe eaarz)oooé K)é%o{’m
QOTOR STE YeEIDRIAS, @S B (Do)

1 112.5
2 88.8
3. 102.5
4 98.8

One of the following is not the characteristic feature of development

1 Quialitative

2 Comprehensive
3. Internal process
4

Limited to a specific aspect
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This type of mentally retarded children are considered as "custodial
mentally retarded".

1. Mild mentally retarded

2 Moderate mentally retarded
3. Severe mentally retarded
4

Learning disabled
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"A Nation progresses by nurturing individual differences of children

in a constructive way" - This is the statement of

1 John Dewey
2 Terman

3. Thorn dike
4

Jean Pieget
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The gland that secrets the hormones which makes a person witty,
soft natured and mentally stable is

1. Thyroid gland

2 Parathyroid gland
3. Pituitary gland

4 Adrinal gland

3580 SEHLHI, JEFE AAPIHIT, ITSVE EST0 SOAS Féw
SAPHTL FPE 3o (PI0B (Ko

1L oSt [Kod

2 3”6{25 093¢ (Ko®

3. deargesd Kok

4. JA&SS Kod

Physical self image, mental self image of a person gets matured at
this state.

1. Childhood

2 Adolescence
3. Middle age
4 Adult age
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10.

A boy doesn't like to study but at the same time doesn't like to fail in
the examination - The conflict here is.

1. Approach — Approach

2 Dual Approach - Avoidance
3. Avoidance - Avoidance
4

Approach - Avoidance
28 e2)0008 SESE0 ROV e @ HOY Dowd wSEs
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According to Erickson the Psycho Social critical situation of a
person who engaged in some kind of creative, productive activities
which are beneficial to society is.

1. Generativity vs Stagnation
2 Intimacy vs Isolation

3. Industry vs Inferiority
4

Integrity vs Despair
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11.

12.

Moral stage of a child who says that he will study if given an
ice cream

1. 3" stage - Conventional level
2 2" stage - Pre-conventional level
3. 1* stage — Pre conventional level
4 4™ stage — Conventional level
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A person suddenly lost his job and weeping like a child —
The defense mechanism adopted here in

1. Projection

2. Regression

3. Compensation
4. Repression
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14.

According to Vygotsky children.

1
2
3.
4

Learn when reinforcement is given
Learn by interacting with adults and peers
Learn by imitation

Learn by insight

DR, (PS80 Dyeo
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2.
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In Pavlov's experiment, the dog salivated when food is given along
with the sound of bell. This can be represented as.
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16.

Sridhar learnt a list of 25 meaningless words in 20 trials. After 2
months, when he was asked to relearn the same material he took 16
attempts. The savings score of Sridhar is.

25 ©Z5rs Soreske e 656 20 (Pahend I8 nar.
2 300 BSOS HSe 93 ST DOA 363Q§séoém 9¢8:30
16 (paHamen éamgmgczg. 8,56 Jeoy Keas

1 16%
2 4%

3. 20%
4 40%

According to Maslov, all most all persons try to satisfy their need
first

1. Physiological need

2. Safety need

3. Love and belongingness need

4, Need for identify
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18.

Correct statement regarding learning.

1
2
3.
4

Learning is not affected by learner's emotions.
Learning has no relation with maturation
Learning is influenced by maturation and emotions

Learning influences some aspects of our behavior only

@IS0 K80 JJS (PITH0

1.
2.
3.

4.
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A person who learnt Sanskrit, wants to learn Hindi. Here the type of
transfer of learning is

1.

2
3.
4

Bilateral transfer
Zero transfer
Negative transfer

Positive transfer
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19.

20.

In retroactive inhibition.

1.

Previously learnt information influences retention of present
learning.

Present learning obstructs recalling of previous learning
Present learning helps in recalling previous learning

There is no influence of previous learning in recalling present
learning.
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‘The law of effect' was proposed by

1
2
3.
4

Watson
Thorndike
Pavlov

Bandura
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22.

The learner develops consistent philosophy of life through.
1
2
3.
4

grgED RIS £D8 Saryl HITT ©DHRBEHE0ERE.
1
2.
3.
4.

Manipulation
Naturalization
Conceptualization

Characterization
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The concept of 'shaping' is related to

1
2
3.
4

Classical conditioning
Operant conditioning
Learning by insight

Trial and error theory
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24,

In the education of mentally retarded one of the following is not

related to reinforcement

1 Gradual fading
2 Shaping

3. Chaining

4 Acceleration

20857050 5GS° IS’ Boworo BIG.
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The correct statement with reference to co-operative and
collaborative learning.

1. There is more priority to the content learnt by pupils

2. There is more priority to the content knowledge of teachers
3. There is more priority to the interactions among teachers
4, There is more priority to the interactions among pupils
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25.

26.

This theory is popularly known as 'Discovery learning'

1 Bruner's theory of instruction

2 Thorndike's trial and error theory
3. Bandura's social learning theory
4

Skinner's operant conditioning theory
‘&3, Be3 @2;55:6(60’5" @?og BoBS ?ocgoéo
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In this Herbartian step the 'subject content' is offered to pupils

1 Preparation
2 Association
3. Presentation
4 Application
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According to Right to Education Act 2009 the teacher pupil ratio
fixed for 6™ to 8" classes

DTG, 5630 - 2009 ($5°50 6 0% 8 SEXBOKH ITBONS
G ATFE DAY

1. 1:25
2. 1:30
3. 1:35
4. 1:40

The weightage given to project work in formative assessment is
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1 10%
2 20%
3. 30%
4 40%



29.

30.

The following is not the concept of NCF-2005 about Work
Education.

1. Work Education is to be institutionalized.
2. Producing of skilled workers through Work Education.

3. Productive work is to be turned into medium of teaching for
knowledge acquisition.

4, Work Education should be helpful in achieving multiple
skills.
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The wrong statement about guidance

Guidance is required for students with adjustment problems

2. Guidance is required for students who are having dis-interest
towards education.

3. Guidance is not required students who are having family
problems

4. Guidance is required students who are having negative

attitude towards school.
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61.

62.

63.

64.

English — Paper —I1 — Set - 4

Lara is not so great as Tendulkar.

The comparative degree of this sentence is:

1
2
3.
4

Tendulkar is greater than Lara.
Lara is as great as Tendulkar
Lara is greater than Tendulkar.

Lara is more greater than Tendulkar.

Choose the antonym of 'submerged'.

They were got up from their sleep by roaring floods.

1
2
3.
4

violated
increased
floated
deflated

This sentence is:

1
2
3.
4

in active voice
in passive voice
in present perfect tense

in past perfect tense

The house with flimsy structure collapsed.

The meaning of the word 'flimsy’ is:

1
2
3.
4

weak
week
muddy

strong



65.

66.

67.

68.

Choose the word that cannot be used as a verb and a noun.

1
2
3.
4

decide
dance
drink
stop

Choose the word that gives the meaning of 'some people gathered

for destructive purpose'.

1
2
3.
4

audience
crowd
army

mob

The following is not true regarding 'if clauses'.

'If clauses' are also known as conditional clauses.

An 'if clause' can be placed either at the beginning or at the
end of the main clause.

If the if clause comes before the main clause, it is followed by
a comma.

An 'if clause' cannot express a condition or a cause.

We must plant a lot of trees.

Here the word 'must’ is

1
2
3.
4

some obligation
a reason
a cause

a result



69.

70.

71.

72.

We dined yesterday at .......... Mourya Sherton Hotel.

Choose the correct article to fill in the blank.

1 a
2 an
3. the
4

no article is needed

Choose the sentence in positive degree.

1 No other battle of my life is so great as this.
2 No house is big here.

3. There is no big house in this street.

4

Very few children watched the movie.

The coach selected me ............. my friend for tomorrow's match.
Choose the correct compound prepositional phrase to fill in the

blank in the sentence above.

1 in spite of

2 in place of

3. ahead of

4 by way of

The bird will fly out ifyou ........... the door of the cage open.

Choose the correct verb to fill in the blank.

1 leaves

2 would leave
3. leave

4 left



73.

74.

75.

76.

She was unable to attend the party ....... her marriage engagement.
Choose the correct compound prepositional phrase to complete the

meaning of the sentence above.

1 due to

2 in spite of
3. instead of
4

along with

It's high time you ......... this work.
Choose the verb that fits the context.
1 finish

2 finished
3. will finish
4

would have finished

Having done his homework, he went out to play.

The above sentence is:

1 a simple sentence

2 a compound sentence
3. a complex sentence
4

a compound complex sentence

Choose the grammatically correct sentence.

1 He has been living here since 2 years.
2 He is taking a cup of milk daily.

3. This mill is belonging to my father.
4

I wish | had a tennis rocket.



77.

78.

Read the following passage and choose the correct answers to
the questions given after

Once upon a time, businessman named Ray Kroc discovered a
restaurant owned by two brothers. The restaurant served just four
things: hamburgers, French Fries, milk shakes and coca cola. But it
was clean and inexpensive, and the service was quick. Mr. Kroc
liked it so much that he paid the brother so that he could use their
idea and their name: Mc Donald's. Beef, big business and fast
service were the ingredients when Mr. Kroc opened his first Mc
Donald's in 1955.

Mc Donald's has never stopped looking for new methods to attract
customers, from drive-in windows to birthday parties. Chicken, fish,
salad and, in some places, pizza are now on the menu. Mc Donald's
in Holland even sell a vegetarian burger. Their International
popularity shows they have found the recipe for success.

What made the restaurants more popular?

1 The servants were kind.

2 The ingredients used were genuine.
3. It was owned by two brothers.
4

It was clean and inexpensive.

What is Mc Donald's philosophy?

1 Quiality control, service, cleanliness and high prices
2 Only cheap prices

3. Only quality control
4

Quiality control, service, cleanliness and cheap prices



79.

80.

81.

82.

Choose the false statement.

1
2
3.
4

Mc Donald's is not innovative in their methods.
Ray Kroc was a businessman.
Ray Kroc opened his first Mc. Donald's in 1955.

Mc Donald's has International popularity.

She never goes to church, ..........

Choose the correct question tag to complete the sentence above.

1
2
3.
4

doesn't she?
does she?
isn't she ?
didn’t she?

Seeing the teacher, the students ran away.

In this sentence, 'seeing the teacher" is:

1
2
3.
4

a finite change
a non-finite
a main clause

an independent clause

Sindhu is a teacher and Gopi, a doctor.
This is:

1
2
3.
4

a simple sentence
a compound sentence
a complex sentence

a compound complex sentence.



83.

84.

85.

86.

No body can beat himon ................. earth.

Choose the correct article to complete the sentence above.

1 a

2 an
3. the
4

No article is needed.

Choose the grammatically correct sentence in simple past.

1 Didn't you see him?
2 He didn’t seen him.
3. He had seen him.
4

She does not see you.

Choose the unvoiced consonant phoneme:

o < o T

1
2
3.
4
Choose the word that has stress on the second syllable:

revise

1

2 passify
3. anxious
4 birthday



87.

88.

89.

90.

Modern English Renaissance (1500 AD onwards) movement

brought the influence of the following language on English.

1
2
3.
4

Greek and Hebrew
Geek and Spanish
French and Greek
Greek and Latin

In locating a particular train, in the railway time table, the reading

technique used is:

1
2
3.
4

Extensive reading
Intensive reading
Skimming

Scanning

Curriculum is:

1
2
3.
4

everything a learner needs to do while on the course of study
a specific test of teaching items

subject specific

totally different from syllabus

The concept of 'Language competence' refers to a person's

1
2
3.
4

knowledge of subject verb agreement
knowledge of parts of speech
memory power governing the formation of sounds

subconscious knowledge of rules governing the formation of
speech



91.

92.

KBS TR0 - D& - 2 - S - 4

Difference of rational number and its reciprocal is % then the

numbers are

2.5 985e30% HoPC A T Il S 50 8 s
) NG 3

€3 260213503
1. -3 or 1
3
2. —4 or ﬂ
3
3. 3or -t
3
4. 4 or _—4
3

There are two pairs of twin prime numbers in three prime numbers.

The product of those three is

ST (HES V0PgRS” DOSEL E50 (S0P S0J). BT
&3 536083 ©20

1.

w0 D

2145
693
105
30



93.

94.

95.

If 10 log,, P =15 then the value of P

10 log,, P =15 ®@o0nS P dens

1. 5

2. 10
3. 15
4. 100

A vendor bought 180 oranges for =~ 2160. Number of oranges that he
can sell for = 2160 so as to get 20% profit is

PR ;5§D§Jc‘§o 180 svoros 2160 8 ?5&(5&. 20% ergso
oaesore - 2160 & @;53&35@?05 ESoere vogps

1. 160
2. 150
3. 120
4. 110

Compound interest at the rate of 10% per annum for 2 years 9

months on a principal of ~ 1000 is in rupees

T 10003 $038)0°08 10% SETenS 2 Hon 9 IoosH &y
725@;5% SEneS’

1. 2100.50
2. 2750.50
3. 3007.50
4. 4075.50



96.

97.

98.

If a:b=3:7, b:cistheinverseratioof7:5thena:c

a:b=3:7, b:ced30 7 : 5 B, ISINE oS a:c

1. 9:7
2 15:49
3. 35:39
4 3:7

If x*+Px*+Px+P, is a cubic polynomial whose zeroes are

o, B,y then off + By + ya is

X+ PX? + PX+ P, 93 9052050988 a, B, 7 e BegBS
aff + By + ya Qe03

1. P

2 P,

3 P

4. -B

If ﬁiﬁ:a—bx/ﬁ then the value of a+b is
ﬁiﬁ —a—Dby/15 oS a+ b Jens

1 3

2. 5

3. 8

4, 10



99.

100.

101.

If 4 -3, 2*14+2=0 then the value of x
A3 22420 ®onS X Jews

1. lor3
2 lor2
3. 20r3
4 20r4

IfA={1,3,578 9} B={3 68,11, 13} then n(AUB) is

IfA={1,3578,9} B={3,6,8, 11, 13} @003 n(AUB)
IISUINS

1. 2
2. )
3. 9
4. 11

Example for finite set of the following is

1. {x : xeN and x is prime number}

2. {x : xeN and x is odd number}

3. {x : xeN and x > 100}

4, {x : xeN and x < 100}

208 TAS° WOWS VWA &TTTed

1. {X I XEN 508050 X 2.8 [PErSvong}
2. {X : XEN 58035 X 2.8 53?moa>5}

3. {x : XxeN 8a3» x = 100}

4, {x : XeEN 830 x < 100}



102.

103.

If a length of chord of 12cm is making an angle of 60° with the

diameter of the circle, then the radius of the circle is in cm.

12 20.20. PEP Ko &g ) T0S° 60° 605 WBYEDS &
)8 F§go 0.0

1.

2.

3.

4.

6

12

18

24

Statements a and b are as given below.

a.

Moo

If two lines intersect, then the vertically opposite angles are
equal.

. If a transversal intersects two lines then the sum of two interior

angles on the same side of the transversal are supplementary
then

both a and b are true

a is true and b is false
a is false and b is true
both a and b are false

B0 (DSrew a HOAW b BXOSS '51350323&533.

a.

= LN

BOED DEFVPEN POSOTSYED bcio)aﬂs %q:;e",);ﬁooa) §Pezeen
Do°S0.

: BOE DEFOPOSH @65693 POSOTHSNE, @628@3%3 2.8

&0G 00558 eTen HodrEsees
QS

a 08350 b e Bo D850
8 D50 3B b L0
CESIELACIteleaty b D&g0

a 0833 b e BoH V&S0



104. AABC ~ APQR, if AB, BC, AC are 6, 4, 8 units respectively and
PR =6 units then PQ + QR is

105.

AABC ~ APQR, e AB, BC, AC 38%r° 6, 4, 8 AB25°0€29 JBA5
PR=6 oﬁar&’)eac% eons PQ + QR

1.

2.

9

8.1

7.5

3.6

Y-axis divides the line segment joining the points (—4, 2) and
(3, =5) in the ratio is

(—4, 2) 865 (3, —5) 0 Sew:) BPrpoksnss Y-e5sm
QPR A

1.



106.

107.

The fourth vertex ‘D’ of a parallelogram ABCD whose three vertices
are A(—2, 3), B(6, 7) and C(8, 3) is

ABCD 235770858 $SE083)30 S8y 5376 Bomen S
A(=2, 3), B(6, 7) 508052 C(8, 3) ®ons &% 8o ‘D’

1. (01)
2. (1,0)

3. (-1,0)
4. (0, -1)

The area of the triangle with vertices A(3, 0) B(7, 0) and C(8, 4) is in
Sg.units

A(3, 0) B(7, 0) So8asn C(8, 4) %c&@om SORS |Bghes 200
SRICEURINY

1. 6
2. 8
3. 16



108.

1009.

Length, breadth and height of a box is 10cm, 8cm and 6cm

respectively, then the maximum length of stick that can be kept in

the box is in cms

2.8 28 ooy, PEY, Deen) HBA Jehen SWI 10 0.2,
8 20.20. HBAM 6 0.2, 8005 WoHE” GoSKe EE B,

KOR e 00.00.08"
1. 15

2. 1043

3. 1042

4. 10

A cone, a cylinder and a sphere have the same radii and same

heights. Then the ratio of their volumes

JooY, B0 FoOSH FoFswen 2.8 TFrE0, B0 SORCHOHD.

OIS FE WIVOIETO IANY

1.

2.

1:3:2



110.

111.

If the sides of a right angle triangle are (2x — 1), 4x, (bx — 2)
respectively, where (5x — 2) is the hypotenuse and also all the sides
are integers. Then the area of the triangle is in sg. units

JgHopgen ehereon Ko el oowse (Bgbao BwY) heren
SEB° (2X — 1), 4X, (5X — 2) 508350 &° §gzﬁ>a (5% —2) ®ond

© @8z JTog0 (5K ATIYS')

1.

2.

3.

4.

30

36

40

46

In finding the mean through deviation method for the data 9, 11, 13,
14, 18, 19 Neeraja got an average of 3 for the deviations. Then her
assumed mean is

AWOS ?éCQS@eSS 9, 11, 13, 14, 18, 19 © 1K SR D&z
ATOS VIO DKEN 3 7 KEI0DVS &5 &IOS DKEw

11

13

18

19



112. Two dice are rolled down randomly. The probability of getting the

sum of number on their faces as ‘8’ is

B0 FAEeO SSrEy)Son ($0i §PQoUSRESYE T S0P
S3) 0080 J080 8’ &g BoRTH(S

., L
12
2. 1
18
3, 2
18
s 2
36

tan@ +secH -1 is
tan@ —secH +1

113. The value of

tan@ +sec -1

[SUIN]
tan@ —secH +1
1. sec O +tan 0
2. secO —tan 06

3. sin@+tan 6

4. cosec O +tan O



114, Ifsin 6 = % (6 is acute) then the value of tan 26

Sing = % (6 ea@o)?s'ao) 90005 tan 20 Jenss

1
1. =
J3
2 J3
3. 1

4. not defined (:‘DCZS{’)OiSzJCéSCSJ)



Paper-11 Set-1VV Maths Methodology

115. The author of the Mathematics module “Egyptian Papyrus”

1. Al-Battani
2. Ahems
3. Euclid
4, Herodotus

“éaa%%oﬁog DHER” 935 Kedes E5EDE SS5000¢8

1. 96-2267°
[A]

2. @i?&(\)
3. dﬁmgé
4, RS

116. The lowest objective in psychomotor domain

Naturalisation
Receiving
Evaluation

> b

Imitation

STSRE SOTEYE 50K0S% Di5y) O

1. b:?wéoso

2. PtSpleintete
3. 35>J°QT°§O§5O
4. DETE



117.

"Making the students to measure the angles of different shaped
triangles in order to find out the sun of the three angles of a triangle
is 180° " The teaching method applied here is

1.
2.
3.
4.

Deductive method
Analytical method
Inductive method
Synthetic method

“AF eseoren Ko @Rerod’d Seros IT§Res® 920
(Q8H2308° 5052 8o 080 180° @ AEPHOSe”S?

9500803 23%5%6@5@

1.

W N

QR0 ‘JDCQS@
DFAED DS
™ (o]
35308 DEN

[en]

DOBAED DS
™ (]



118. The mathematical concepts that can be developed through “Abacus”
(A) Addition, Subtraction
(B) Doing large number multiplications easily
(C) Types of fractions
(D) Place value

TR0 B0 TT° DOTFOLOBKL KEIS ST
(A) doseso, ;5§;5§e>:60

(B) & 00950 MHeITTOD BO5M JoHS)
© @JQQD - O5Pen

(D) 3rsdewss
1. AB
2. B,C
3. CD

4. A'D



119.

120.

The Academic standard to be tested through the following test item
“Write the number 1056375 in expanded form”

1 Problem solving
2. Communication
3 Representation
4, Connection

“1056375 0958 ATed G790 0709067 @ Héoihe oo
28303800 D\ Hea S0

L RSy e

;s§_§oz>615c‘$o

fciilalvslelele

W

IDOFN0

The following are the methods of organizing syllabus
(A) Topical Method (B) Practical Method
(C) Spiral Method (D) Logical, Psychological Method

808 FAS° Dol A AT

(A) Bas 258 (B) esi58emes) & $88

(C) %Oy &8 (D) &8 5, >3 Jegs S
1 A B,C
2 A B,D
3. ACD
4 B,C,D



121.

122.

F°RE BIAHS PR - D6 - 2 - - 4

S.1 unit of density

3

1. g/m
2. glem®
3.  kgm®
4.  kglem®

FOFSH Sl (DITeTee

Lo/

2. /0.
3. /W

4. & /Do

Halley's comet will be seen in the year

=58 SEDHE 552080 MOS0

1 2061
2 2062
3. 2063
4 2064



123. A source of sound produces 2000 compression and 2000 rarefaction
pulses in a gas in one second. Then the frequency of the sound wave

124.

IS

2.5 ¢ &S50 FAI0HS’ 28 DEHST 2000 PDoHEIeD 558350
2000 DBVEBeTOD GSBTN08. B A SToKo B,

3":6:?.@):650

1 1000 Hz

2 4000 Hz

3. 2000 Hz

4 4000000 Hz

The energy transferred when 5g of boiling water at 100°C condenses

to water at 100°C is

100°C 5gKe 5 (1. & 28, 100 C &YKo Ko Ao
T 005880 FoEEAS wHY FOVS &R0

1
2
3.
4

500 cal
400 cal
4000 cal
2700 cal



125. The value of universal gravitational constant is

1 9.8 ms™

2 6.67 x 10 Nm? kg™
3. 6.626x 10" Js

4 6.022 x 10*° mole™

3)%3 Pbdaeﬁos ?C%U"O§O IISOIN

1. 98 %27

6.67x 10™ &g ” .
6.626 X 103 &S - 53

Ll

6.022 x 10238

126. Ten resistors each of value 10 Q are connected in parallel. The

equivalent resistance of the combination is

28 5.8 10 Q JE°F0 SOAS 10 IS ToH VS0 vorrsos’
5905 HOS IS0

1. 100 Q

2. 200

3. 1 Q
10

4. 10



127.

128.

The suitable method to separate the components with large

difference in boiling points of a miscible liquid mixture is

1 Fractional distillation
2 Distillation

3. Sublimation
4

Evaporation fallow
FEIAH (55 WEFDHOSW epeste (BFSS GXUSS” S
NEURS b é@@gcﬁo 20080 DO S Zag@
1. eso%é'fooscic‘éo
"50036550
c%éo)ééo

e N

wi})zﬁééo

The first component that is separated from petroleum is

1 Kerosene
2 Diesel

3. Petrol
4

Paraffin wax

SO0 5008 Incseare IHTADeT woBaireo

1. N
2. &as
3. &S

4. Johs 00



129.

N2 (9) +O; (9) >2NO(g) - Q
The above reaction is an example for

1
2
3.
4

Exothermic reaction
Redox reaction
Endothermic reaction

Decomposition reaction

N2 (g) +O; () »2NO(g) - Q s 505 2.8

1.

L

éﬁ%ﬁ:"x‘5§ 655
8@% 565
ég%km‘@§ 7155?8
ARBK 7565



130. The incorrect statement regarding electronic configuration is

1 It explains distribution of electrons in different shells

2 It helps to understand the chemical behavior of an atom
3. It explains physical properties of an element
4

It helps us to understand the chemical reactivity of elements.

ACTER) DTFPAS $0220H0D DO TGN
L 30 228 58)008° JOTIO 0D BooY

2. 30 DBIFENY BDY), FIADS KEra) eagozﬁmg%czo:o%
S50,

3. 30 TSI Do) T8 G078 2580

4. 30 Sro¥0 DY) SFDHS $ArBOSH @PoBs SEds
S PESHED.

131. The metal of S-block elements (M) combine directly with halogen
(X) to form halides

S- 21§ % Fods §ro (M), T&aS (X) &° (dSgE0N BOBTHo
DOLEO SN ) P&

1. MX and MX,
2. MX, and M X3
3. MX and MX;

4, MX, and MX,



132. Magnasite, Carnalite and Epsum salt are the ores of

1 Magnesium
2 Manganese
3. Iron

4 Copper

S RE, SNBE DO D)o oSeren Y End eeren

1. 3)&}2&0530
2. S30KDD
3. 200

4, o°A



Biology Paper—-2 - SET -4

133. The food material that turns into dark blue colour when 10% Sodium
Hydroxide and 2% Copper Sulphate are added

1. Proteins

2 Glucose

3. Fats

4 Carbohydrates

10% &Faas0 TIETYE, 2% 96 9B)So &dErRoDIY)E
S0 DOToKE S S TYS0

1L STODEYByen

2. K3&%e
™
3. (&g
4. 20&DTPTOD

@

134. Pick the odd one out

1 Carrot

2 Turmeric
3. Beetroot
4 Raddish

308 IS DPFS A K030,

1. ?565
2. DD

3. DSES
4. S00QO0A



135.

136.

Identify the pair of animals that show external fertilization.

1 Snake and Insect

2 Insect and Garden Lizard

3. Garden Lizard and Frog

4 Frog and Fish

a7°:7°§é@6§6830 I BPO WS KB0I0é.
1L o Hda Seso

8650 500050 0

&°0& SHBA 5

L

59 S8 [

The plants that need long night for flowering are

Wheat and Jowar
Jowar and Soya
Soya and Hibiscus
Hibiscus and Wheat

=l

DQ)OWETAE K. TR 5°0 DFCO WSHTZ0S oKy e
1 Koo S8as0 &)

2 &%) $o0a00 Fair

3. Pair $H8050 SHowd

4 S00TPE 50805 AP



137. Pick the cell organelle that plays important role in protein synthesis

1 Mitochondria
2 Chloroplasts

3. Ribosomes

4 Golgi Complex

308 IS (PP $0FS” SopgrS $0B Serorren
L D&SsroGosren

2. S5eOST eI
3.  JESSwew
4, ) boé;e%o

138. The study of animal behavior scientifically is

1 Psychology
2 Ethology

3. Morphology
4 Physiology

BOHIO (DIYIT FIQALON BEE0S0 T PO

1 Vs

2. 30

3. ;55°c5:)e>£
4. L eWerST



139. The low quantity of Rhodopsin in the body of a person leads to

1 Reduction of hearing capacity
2 Cannot see in dim light

3. Digestion process slows down
4 Gigantism occurs

508" FeR)® S5 38, & 535
L 2088 ¥ &Ke00d

SK) .5 0dS” SrEB
SP3ADH $H0SAN00

Ll

5690536030 5008
q)) —

140. The increase in the concentration of harmful chemicals at every step
in the food chain is
1 Pyrolysis
2 Bio - magnification
3. Bio - remediation
4

Phyto - remediation

2908 FEIEY S0Hae Fo|ES eIy AeonS R (HASHS®

;so)gsvsseoo

1 OB

2 DY SESPHI0
o )

3. BIS 055355

4 265° 2359555



141.

142.

Match the following and mark correct answer.

A)
B)
C)
D)

Phylloquinone
Niacin
Pyridoxine

Calciferol

)i Anaemia

I Rickets

1)  Pellagra

IV)  Delay in Blood clotting

308 A BSDED JBS VIS0 K800,

A)
B)
C)
D)

1
2
3.
4

2EESW

DASTDS

28&8)
SR

A1l B-I
A-ll B-1I
A-1V B-1I
A1l B-1IV

) eddasr
) 838
) eryw

V) &%0 K&EseEo 3;53&&0115&0
—° G @

C-1IVv D-1l
C-1Iv D-1I
C-1 D-1
c-1i D-1I

Identify the pair of organisms with open circulatory system

1
2
3.
4

Fish - Octopus
Frog - Octopus
Cockroach - Snail
Cockroach - Fish

IS DO FSY SOAS BP0 3E™ KBoH0s.

1.

Lol



143.

144,

Find the incorrect statement

1
2
3.
4

Lysozyme of tears is first line of defense
Cytokinines are antigens
Natural Killer cells release perforins

Spleen is secondary lymphoid organ

308 TS Sy TR KHY0iS0E,

1.

SYAS’ 08 PFFD eFolgiy SIS B #8 $58)
9386550

SIS JoedEsy

Dre TroSE Serren DEFBI0S BB 0.

?;)ZPO aoséaoso DoonE 95053550

The use of DNA ligage is

1
2
3.
4

Synthesis of m RNA

Cutting of DNA

Joining of sticky ends of DNA
Separation of DNA Fragments

DNA Sige &n&8rKo

1.

L

m RNA 50333

DNA 58803

DNA o0& 3 550 oS0
DNA 5005 05 3HBaDHE0



145.

146.

PR ETeR - w6 -2 -l - 4

Explanation of 27 stars is given in this veda

1
2
3.
4

Rugveda
Yajurveda
Samaveda

Adharvanaveda

I SYEo ISTer B3 (308 50 gKwéEod

1.

L

R[50
02T 50
PS030
SBEIIC50

In science laboratories large quantity of dry sand is sprinkled on this

fire

1
2
3.
4

Burning glassware
Electric fire
Burning metals

Burning liquids

BEFRFOS” JL)5 H8STeInS” FE FRES IBSe SR

0LV DS

1.

Lol

DOLNDY) e TSR
3365355 $o0een
DO 5%
0GR (Baren



147.

148.

To teach the lesson "Discovery of Archimedes Principle" through

historical method the following approach is used

1 Biographical approach
2 Social approach

3. Evolution approach
4

Anecdotal approach

B ES WPER) EDFDHE’ ¥ FoY) TOSE 2GS oxo°

SROOH T EBRIHIN
L B8 SO &DKDI0
FOWE EVAZOI0
DBETS &VAS0S0

Lo

éi)"a?s?é G030

A good example of a pair of activity aids is

1 Field trips, school garden
2 Models, specimens
3. Magnetic board, peg board
4 LCD projector, slide projector
28 28 5EISTETODn Hod ST
1. ER] RISREH 20585
INNSLLA IO ?ojo;ﬁoé(%
@O 08 F°, DASWD
(ov) (ev3

S D & \FBES, & (BES

QT O e

Lol



149. These books give guidance on what to teach and how to teach in the
classroom

1. Guides
2 Modules
3. Textbooks
4

Reference books

S5KD KOSE H DAGITRY S 00TO, Jer STHoTO 9
SapelatelSLop ) 33)2

1. Jil=S]

2. S TG

3. TEFIRS 0

4. JoRhoY Kogren

150. In Herbartian approach of lesson plan writing in this step the student

receives the concept of a lesson in total

1 Comparison

2 Generalization
3. Application
4

Presentation

oG DB JEIFE SISS” rovgo¥ S TR FY
Fod® vmfor ©od ¥

1. PO

2. D rsdsseo
3. 6:9«5030‘530

4, pOLr~ToDISTeTNSIN



